PROBLEM 13–11B

Common-Size Statements and Financial Ratios for Creditors [LO1, LO3, LO4]

CHECK FIGURE

(1d) Average collection period this year: 27.6 days; 
(1g) Times interest earned this year: 10.1 times
Crowley Building Supply sells various building materials to retail outlets. The company has just approached Sycamore State Bank requesting a $300,000 loan to strengthen the Cash account and to pay certain pressing short-term obligations. The company’s financial statements for the most recent two years follow:

	Crowley Building Supply

	Comparative Balance Sheets

	
	
	

	
	This Year
	Last Year

	Assets
	 
	  

	Current assets:
	 
	  

	
Cash
	$     55,000
	$  140,000

	
Marketable securities
	0
	18,000

	
Accounts receivable, net
	473,000
	285,000

	
Inventory
	947,000
	587,000

	
Prepaid expenses
	      18,000
	25,000

	Total current assets
	1,493,000
	1,055,000

	
Plant and equipment, net
	 1,638,620
	1,543,580

	Total assets
	$3,131,620
	$2,598,580

	
	
	

	Liabilities and Stockholders’ Equity
	 
	  

	Liabilities:
	 
	  

	
Current liabilities
	$  803,000
	$  442,000

	
Bonds payable, 8%
	    615,000
	    615,000

	Total liabilities
	 1,418,000
	 1,057,000

	Stockholders’ equity:
	 
	  

	
Preferred stock, $25 par, 7%
	315,000
	315,000

	
Common stock, $10 par
	507,000
	507,000

	
Retained earnings
	    891,620
	   719,580

	Total stockholders’ equity
	 1,713,620
	 1,541,580

	Total liabilities and stockholders’ equity
	$3,131,620
	$2,598,580

	
	
	


	Crowley Building Supply

	Comparative Income Statement and Reconciliation

	
	
	

	
	This Year
	Last Year

	  Sales
	$5,015,000
	$4,357,000

	  Cost of goods sold
	 3,866,000
	 3,430,000

	  Gross margin
	1,149,000
	927,000

	  Selling and administrative expenses
	653,000
	534,000

	  Net operating income
	496,000
	393,000

	  Interest expense
	49,200
	49,200

	  Net income before taxes
	446,800
	343,800

	  Income taxes (35%)
	    156,380
	    120,330 

	  Net income
	    290,420
	    223,470 

	  Dividends paid:
	 
	  

	  Preferred dividends
	22,050
	22,050 

	  Common dividends
	      96,330
	     60,840 

	  Total dividends paid
	    118,380
	     82,890 

	  Net income retained
	172,040
	140,580 

	  Retained earnings, beginning of year
	    719,580
	    579,000 

	  Retained earnings, end of year
	$  891,620
	$  719,580 

	  
	
	


During the past year, the company has expanded the number of lines that it carries in order to stimulate sales and increase profits. It has also moved aggressively to acquire new customers. Sales terms are 2/10, n/30. All sales are on account.

Assume that the following ratios are typical of companies in the building supply industry:

	Current ratio
	2.5

	Acid-test ratio
	1.2

	Average collection period
	18 days

	Average sale period
	50 days

	Debt-to-equity ratio 
	0.75

	Times interest earned
	6.0

	Return on total assets
	10%

	Price-earnings ratio
	9


Required:

1.
Sycamore State Bank is uncertain whether the loan should be made. To assist it in making a decision, you have been asked to compute the following amounts and ratios for both this year and last year:

a.
Working capital.

b.
Current ratio.

c.
Acid-test ratio.

d.
Average collection period. (The accounts receivable at the beginning of last year totaled $252,000.)

e.
Average sale period. (The inventory at the beginning of last year totaled $505,000.)

f.
Debt-to-equity ratio.

g.
Times interest earned.

2.
For both this year and last year (carry computations to one decimal place):

a.
Present the balance sheet in common-size form.

b.
Present the income statement in common-size form down through net income.

3.
From your analysis in (1) and (2) above, what problems or strengths do you see for Crowley Building Supply? Make a recommendation as to whether the loan should be approved.

PROBLEM 13–12B

Financial Ratios for Common Stockholders [LO2]

CHECK FIGURE

(1a) Earnings per share this year: $5.69;

(1d) Price-earnings ratio: 6.6
Kris Building Supply sells various building materials to retail outlets. The company has just approached Kingston State Bank requesting a $300,000 loan to strengthen the Cash account and to pay certain pressing short-term obligations. The company’s financial statements for the most recent two years follow:

	Kris Building Supply

	Comparative Balance Sheets

	
	
	

	
	This Year
	Last Year

	Assets
	 
	  

	Current assets:
	 
	  

	
Cash
	$    58,000
	$  137,000

	
Marketable securities
	0
	14,000 

	
Accounts receivable, net
	464,000
	291,000 

	
Inventory
	944,000 
	585,000 

	
Prepaid expenses
	      16,000
	     25,000 

	Total current assets
	1,482,000 
	1,052,000

	
Plant and equipment, net
	 1,640,410 
	 1,497,555

	Total assets
	$3,122,410
	$2,549,555

	
	
	

	Liabilities and Stockholders’ Equity
	 
	  

	Liabilities:
	 
	  

	
Current liabilities
	$  815,000
	$  433,000

	
Bonds payable, 9%
	    620,000
	    620,000

	Total liabilities
	 1,435,000
	 1,053,000

	Stockholders’ equity:
	 
	  

	
Preferred stock, $25 par, 7%
	277,500
	277,500

	
Common stock, $10 par
	504,000
	504,000

	
Retained earnings
	    905,910
	    715,055

	Total stockholders’ equity
	 1,687,410
	 1,496,555

	Total liabilities and stockholders’ equity
	$3,122,410
	$2.549.555

	
	
	


	Kris Building Supply

	Comparative Income Statement and Reconciliation

	
	
	

	
	This Year
	Last Year

	  Sales
	$5,017,000
	$4,361,000

	  Cost of goods sold
	 3,873,000
	 3,446,000

	  Gross margin
	1,144,000
	915,000

	  Selling and administrative expenses
	    651,000
	    542,000

	  Net operating income
	493,000
	373,000

	  Interest expense
	      55,800
	      55,800

	  Net income before taxes
	437,200
	317,200

	  Income taxes (30%)
	    131,160
	      95,160 

	  Net income
	    306,040
	    222,040 

	  Dividends paid:
	
	

	  Preferred dividends
	19,425
	19,425 

	  Common dividends
	      95,760
	      70,560 

	  Total dividends paid
	    115,185
	      89,985 

	  Net income retained
	190,855
	132,055 

	  Retained earnings, beginning of year
	    715,055
	    583,000 

	  Retained earnings, end of year
	$  905,910
	$  715,055 

	  
	
	

	
	
	


During the past year, the company has expanded the number of lines that it carries in order to stimulate sales and increase profits. It has also moved aggressively to acquire new customers. Sales terms are 2/10, n/30. All sales are on account.

Assume that the following ratios are typical of companies in the building supply industry:

	Current ratio
	2.5

	Acid-test ratio
	1.2

	Average collection period
	18 days

	Average sale period
	50 days

	Debt-to-equity ratio 
	0.75

	Times interest earned
	6.0

	Return on total assets
	10%

	Price-earnings ratio
	9


Assume that you have just inherited several hundred shares of Kris Building Supply stock. Not being acquainted with the company, you decide to do some analytical work before making a decision about whether to retain or sell the stock you have inherited.

Required:

1.
You decide first to assess the well-being of the common stockholders. For both this year and last year, compute the following:

a.
The earnings per share.

b.
The dividend yield ratio for common stock. The company’s common stock is currently selling for $38 per share; last year it sold for $33 per share.

c.
The dividend payout ratio for common stock.

d.
The price-earnings ratio. How do investors regard Kris Building Supply as compared to other companies in the industry? Explain.

e.
The book value per share of common stock. Does the difference between market value and book value suggest that the stock at its current price is too high? Explain.

2.
You decide next to assess the company’s rate of return. Compute the following for both this year and last year:

a.
The return on total assets. (Total assets at the beginning of last year were $2,220,000.)

b.
The return on common stockholders’ equity. (Stockholders’ equity at the beginning of last year was $1,269,000.)

c.
Is the company’s financial leverage positive or negative? Explain.

3.
Based on your analytical work (and assuming that you have no immediate need for cash), would you retain or sell the stock you have inherited? Explain.

PROBLEM 13–13B

Interpretation of Financial Ratios [LO2, LO3]

CHECK FIGURE

None
Being a prudent investor, Abigail Lynch always investigates a company thoroughly before purchasing shares of its stock for investment. Ms. Lynch is interested in the stock of Grinder Company, a company that sells drilling equipment to the oil industry. Before purchasing the stock, Ms. Lynch would like your help in analyzing the data that are available to her as shown below: 

	
	Year 3
	Year 2
	Year 1

	Sales trend

	132
	118
	105

	Current ratio

	2.2
	1.9
	1.7

	Acid-test (quick) ratio

	0.9
	1.2
	1.3

	Accounts receivable turnover

	9.8
	10.7
	13.1

	Inventory turnover

	6.8
	7.4
	8.3

	Dividend yield

	7.6%
	6.3%
	5.9%

	Dividend payout ratio

	46%
	52%
	67%

	Return on total assets

	14.1%
	13.5%
	10.2%

	Return on common stockholders’ equity

	15.0%
	12.0%
	8.5%

	Dividends paid per share *

	$1.80
	$1.80
	$1.80


*There have been no changes in common stock outstanding over the three-year period.

Ms. Lynch would like answers to a number of questions about the trend of events in Grinder over the last three years. Her questions are:


a.
Is it becoming easier for the company to pay its bills as they come due?


b.
Are customers paying their accounts at least as fast now as they were in Year 1?


c.
Is the total of the accounts receivable increasing, decreasing, or remaining constant?


d.
Is the level of inventory increasing, decreasing, or remaining constant?


e.
Is the market price of the company’s stock going up or down?


f.
Is the amount of the earnings per share increasing or decreasing?


g.
Is the price-earnings ratio going up or down?


h.
Is the company employing financial leverage to the advantage of the common stockholders?

Required:

Answer each of Ms. Lynch’s questions and explain how you arrived at your answers.
PROBLEM 13–14B

Effects of Transactions on Various Ratios [LO3]

CHECK FIGURE

(1b) Current ratio: 2.46
Selected amounts from Reingold Company’s balance sheet from the beginning of the year follow:

	Cash ................................................. 
	$73,000

	Marketable Securities ......................... 
	$13,500

	Accounts receivable, net ..................... 
	$357,200

	Inventory .......................................... 
	$467,800

	Prepaid expenses ............................... 
	$10,100 

	Plant and equipment, net .................... 
	$980,000 

	Accounts payable ................................ 
	$205,400 

	Accrued liabilities ................................ 
	$62,700 

	Notes due within one year ................... 
	$106,000 

	Bonds payable in five years................... 
	$143,000 


During the year, the company completed the following transactions:

x.
Purchased inventory on account, $52,250.

a.
Declared a cash dividend, $33,000.

b.
Paid accounts payable, $104,800.

c.
Collected cash on accounts receivable, $83,300.

d.
Purchased equipment for cash, $77,400.

e.
Paid a cash dividend previously declared, $31,800.

f.
Borrowed cash on a short-term note with the bank, $64,500.

g.
Sold inventory costing $72,400 for $103,000, on account.

h.
Wrote off uncollectible accounts in the amount of $11,200 reducing the accounts receivable balance accordingly.

i.
Sold marketable securities costing $14,100 for cash, $10,200.

j.
Issued additional shares of common stock for cash, $206,000.

k.
Paid off all short-term notes due, $163,300.

Required:

1.
Compute the following amounts and ratios as of the beginning of the year:

a.
Working capital.

b.
Current ratio.

c.
Acid-test ratio.

2.
Indicate the effect of each of the transactions given above on working capital, the current ratio, and the acid-test ratio. Give the effect in terms of increase, decrease, or none. Item (x) is given as an example of the format to use:

	
	The Effect on

	Transaction
	Working Capital
	
	Current Ratio
	
	Acid-Test Ratio

	
	
	
	
	
	

	(x) Purchased inventory on account ..........
	None
	
	Decrease
	
	Decrease


PROBLEM 13–15B

Effects of Transactions on Various Financial Ratios [LO2, LO3, LO4]

CHECK FIGURE

None

In the right-hand column below, certain financial ratios are listed. To the left of each ratio is a business transaction or event relating to the operating activities of Flatiron Company.

	
	Business Transaction or Event
	 Ratio

	1.
	Declared a cash dividend.
	Current ratio

	2.
	Sold inventory on account at cost.
	Acid-test (quick) ratio

	3.
	Issued bonds with an interest rate of 9%. The company’s return on assets is 12%.
	Return on common stockholders’ equity

	4.
	Net income decreased by 10% between last year and this year. Long-term debt remained unchanged.
	Times interest earned

	5.
	Paid a previously declared cash dividend.
	Current ratio

	6.
	The market price of the company’s common stock dropped from 22½ to 18. The dividend paid per share remained unchanged.
	Dividend payout ratio

	7.
	Obsolete inventory totaling $125,000 was written off as a loss.
	Inventory turnover ratio

	8.
	Sold inventory for cash at a profit.
	Debt-to-equity ratio

	9.
	Changed customer credit terms from 2/10, n/15 to 2/15, n/30 to comply with a change in industry practice.
	Accounts receivable turnover ratio

	10.
	Issued a common stock dividend on common stock.
	Book value per share

	11.
	The market price of the company’s common stock increased from 22½ to 32½.
	Book value per share

	12.
	Paid $55,000 on accounts payable.
	Working capital

	13.
	Issued a common stock dividend to common stockholders.
	Earnings per share

	14.
	Paid accounts payable.
	Debt-to-equity ratio

	15.
	Purchased inventory on credit terms.
	Acid-test (quick) ratio

	16.
	Wrote off an uncollectible account against the Allowance for Bad Debts.
	Current ratio

	17.
	The market price of the company’s common stock increased from 22½ to 32½. Earnings per share remained unchanged.
	Price-earnings ratio

	18.
	The market price of the company’s common stock increased from 22½ to 32½. The dividend paid per share remained unchanged.
	Dividend yield ratio


Required:

Indicate the effect that each business transaction or event would have on the ratio listed opposite to it. State the effect in terms of increase, decrease, or no effect on the ratio involved, and give the reason for your answer. In all cases, assume that the current assets exceed the current liabilities both before and after the event or transaction. Use the following format for your answers: 

	
	Effect on Ratio
	Reason for Increase, Decrease, or No Effect

	1.
	
	

	Etc.
	
	


PROBLEM 13–16B

Comprehensive Ratio Analysis [LO2, LO3, LO4]

CHECK FIGURE

(1a) Return on total assets this year: 10.1%; 
(2e) Book value per share this year: $59.04
You have just been hired as a loan officer at San Diego State Bank. Your supervisor has given you a file containing a request from Mobile Company, a manufacturer of auto components, for a $1,000,000 five-year loan. Financial statement data on the company for the last two years are given below:

	Mobile Company

	Comparative Balance Sheets

	
	
	

	
	This Year
	Last Year

	Assets
	 
	  

	Current assets:
	 
	  

	
Cash
	$  327,000
	$  424,000 

	
Marketable securities
	0
	99,000 

	
Accounts receivable, net
	904,000
	607,000 

	
Inventory
	1,330,000
	730,000 

	
Prepaid expenses
	      85,000
	     70,000 

	Total current assets
	2,646,000
	1,930,000 

	Plant and equipment, net
	 3,435,800
	 3,091,400 

	Total assets
	$6,081,800
	$5,021,400 

	
	
	

	Liabilities and Stockholders’ Equity
	
	

	Liabilities:
	
	

	
Current liabilities
	$1,250,000
	$  750,000 

	
Bonds payable
	1,280,000
	 1,080,000

	Total liabilities
	2,530,000
	 1,830,000 

	Stockholders’ equity:
	
	

	
Preferred stock, 8%, $30 par value
	600,000
	600,000

	
Common stock, $40 par value
	2,000,000
	2,000,000 

	
Retained earnings
	    951,800
	    591,400 

	Total stockholders’ equity
	 3,551,800
	 3,191,400 

	Total liabilities and stockholders’ equity
	$6,081,800
	$5,021,400 

	
	
	


	Mobile Company

	Comparative Income Statement and Reconciliation

	
	
	

	
	This Year
	Last Year

	  Sales
	$5,400,000
	$4,220,000 

	  Cost of goods sold
	 4,070,000
	 3,160,000 

	  Gross margin
	1,330,000
	1,060,000 

	  Selling and administrative expenses
	    530,000
	    510,000 

	  Net operating income
	800,000
	550,000 

	  Interest expense
	    128,000
	    108,000 

	  Net income before taxes
	672,000
	442,000 

	  Income taxes (30%)
	    201,600
	    132,600 

	  Net income
	    470,400
	    309,400 

	  Dividends paid:
	
	

	  Preferred dividends
	48,000
	48,000 

	  Common dividends
	      62,000
	     31,000 

	  Total dividends paid
	    110,000
	     79,000 

	  Net income retained
	360,400
	230,400 

	  Retained earnings, beginning of year
	    591,400
	    361,000 

	  Retained earnings, end of year
	$   951,800
	$  591,400 

	  
	
	


Loretta Young, who just two years ago was appointed president of Mobile Company, admits that the company has been “inconsistent” in its performance over the past several years. But Young argues that the company has its costs under control and is now experiencing strong sales growth, as evidenced by the more than 27% increase in sales over the last year. Young also argues that investors have recognized the improving situation at Mobile Company, as shown by the jump in the price of its common stock from $38 per share last year to $54 per share this year. Young believes that with strong leadership and with the modernized equipment that the $1,000,000 loan will enable the company to buy, profits will be even stronger in the future.

Anxious to impress your supervisor, you decide to generate all the information you can about the company. You determine that the following ratios are typical of companies in Mobile’s industry:

	Current ratio ......................... 
	2.3

	Acid-test ratio ....................... 
	1.2

	Average collection period ..... 
	31 days

	Average sale period ............. 
	60 days

	Return on assets ................. 
	9.5%

	Debt-to-equity ratio .............. 
	0.65

	Times interest earned .......... 
	5.7

	Price-earnings ratio ............. 
	10


Required:

1.
You decide first to assess the rate of return that the company is generating. Compute the following for both this year and last year:

a.
The return on total assets. (Total assets at the beginning of last year were $4,360,000.)

b.
The return on common stockholders’ equity. (Stockholders’ equity at the beginning of last year totaled $4,519,185. There has been no change in preferred or common stock over the last two years.)

c.
Is the company’s financial leverage positive or negative? Explain.

2.
You decide next to assess the well-being of the common stockholders. For both this year and last year, compute:

a.
The earnings per share.

b.
The dividend yield ratio for common stock.

c.
The dividend payout ratio for common stock.

d.
The price-earnings ratio. How do investors regard Mobile Company as compared to other companies in the industry? Explain.

e.
The book value per share of common stock. Does the difference between market value per share and book value per share suggest that the stock at its current price is a bargain? Explain.

f.
The gross margin percentage.

3.
You decide, finally, to assess creditor ratios to determine both short-term and long-term debt paying ability. For both this year and last year, compute:

a.
Working capital.

b.
The current ratio.

c.
The acid-test ratio.

d.
The average collection period. (The accounts receivable at the beginning of last year totaled $520,000.)

e.
The average sale period. (The inventory at the beginning of last year totaled $650,000.)

f.
The debt-to-equity ratio.

g.
The times interest earned.

4.
Make a recommendation to your supervisor as to whether the loan should be approved.

PROBLEM 13–17B

Common-Size Financial Statements [LO1]

You have just been hired as a loan officer at Evergreen Park State Bank. Your supervisor has given you a file containing a request from Automart Company, a manufacturer of auto components, for a $1,000,000 five-year loan. Financial statement data on the company for the last two years are given below:

	Automart Company

	Comparative Balance Sheets

	
	
	

	
	This Year
	Last Year

	Assets
	 
	  

	Current assets:
	 
	  

	
Cash
	$   335,000 
	$   423,000 

	
Marketable securities
	       0 
	96,000 

	
Accounts receivable, net
	902,000 
	606,000 

	
Inventory
	1,400,000 
	810,000 

	
Prepaid expenses
	      88,000 
	     59,000 

	Total current assets
	2,725,000 
	1,994,000 

	Plant and equipment, net
	 3,154,600 
	 3,109,700 

	Total assets
	$5,879,600 
	$5,103,700 

	
	
	

	Liabilities and Stockholders’ Equity
	
	

	Liabilities:
	
	

	
Current liabilities
	$1,340,000 
	$  790,000 

	
Bonds payable, 10%
	 1,130,000 
	 1,190,000 

	Total liabilities
	 2,470,000 
	 1,980,000 

	Stockholders’ equity:
	
	 

	
Preferred stock, 8%, $30 par value
	600,000 
	600,000 

	
Common stock, $40 par value
	2,000,000 
	 2,000,000 

	
Retained earnings
	    809,600 
	    523,700 

	Total stockholders’ equity
	 3,409,600 
	 3,123,700 

	Total liabilities and stockholders’ equity
	$5,879,600 
	$5,103,700 

	
	
	


	Automart Company

	Comparative Income Statement and Reconciliation

	
	
	

	
	This Year
	Last Year

	  Sales
	$5,370,000 
	$4,250,000 

	  Cost of goods sold
	 4,140,000 
	 3,260,000 

	  Gross margin
	1,230,000 
	990,000 

	  Selling and administrative expenses
	   520,000 
	    510,000 

	  Net operating income
	710,000 
	480,000 

	  Interest expense
	   113,000 
	    119,000 

	  Net income before taxes
	597,000 
	361,000 

	  Income taxes (30%)
	   179,100 
	    108,300 

	  Net income
	   417,900 
	    252,700 

	  Dividends paid:
	 
	 

	  Preferred dividends
	48,000 
	48,000 

	  Common dividends
	84,000 
	     42,000 

	  Total dividends paid
	   132,000 
	     90,000 

	  Net income retained
	285,900 
	162,700 

	  Retained earnings, beginning of year
	   523,700 
	   361,000 

	  Retained earnings, end of year
	$  809,600 
	$  523,700 

	  
	
	


Cary Grant, who just two years ago was appointed president of Automart Company, admits that the company has been “inconsistent” in its performance over the past several years. But Grant argues that the company has its costs under control and is now experiencing strong sales growth, as evidenced by the more than 25% increase in sales over the last year. Grant also argues that investors have recognized the improving situation at Automart Company, as shown by the jump in the price of its common stock from $70 per share last year to $54 per share this year. Grant believes that with strong leadership and with the modernized equipment that the $1,000,000 loan will enable the company to buy, profits will be even stronger in the future.

Anxious to impress your supervisor, you decide to generate all the information you can about the company. You determine that the following ratios are typical of companies in Automart’s industry:

	Current ratio ......................... 
	2.3

	Acid-test ratio ....................... 
	1.2

	Average collection period ..... 
	31 days

	Average sale period ............. 
	60 days

	Return on assets ................. 
	9.5%

	Debt-to-equity ratio .............. 
	0.65

	Times interest earned .......... 
	5.7

	Price-earnings ratio ............. 
	10


Required:

For both this year and last year:

1.
Present the balance sheet in common-size format.

2.
Present the income statement in common-size format down through net income.

3. 
Comment on the results of your analysis.
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